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Who founded the city of Jodhpur ?

(A) Rao Maldeo (B) Rao Chunda

(C) Rao Rawal’ (D) Rao Jodha

(E) Questionnot attempted

i Agri ’ ibution to
What is the-Agricultural sector's contri i
Raj:sthan’s'iﬁcpme in FY 2023-24, according to
the latest Economic Review 2023-24 by the
Government of Rajasthan ?

Choose the most appropriate answer from the
options given below.

(A) 26.72% (B) 22.60%

(C) 21.35% (D) -30.85%

(E) Question not attempted

AWhich‘of the following is not a category for

classifying the elements ?

(A) Metalloids (B) Metallurgy

(D) N on-metals

Which one of-tHe following provisions of the RTI
& E first appeals by requesters ?

5 (B) ‘Section 20(1)

(C) Section19(1)

(D) Section 8(1)
(E) Question not attempted

Select the one which is different from other three
alternatives : :

(A) Trapezium (B) Pentagon

(C) Rectangle- (D) Rhombus

(E) Q'uestignzi\_gt attempted

The Right to_ Information Act, 2005 (RTI Act)
seeks to promote which of the following qualities
in the working of every public authority ?

Choose the*most appropriate answer from the
options given-below.

(A) Transparency (B) Efficiency

(C) Reputation (D) Punctuality

(E) Question not attempted
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What is the next number in the following
sequence ?

77,49,36,18, ____
() 8 (B) 6
© 7 D) 2

(E) Question not attempted

Amongst the following figures, which one is
different from the rest ?

"' UURARR AR
@ ® 0 @

Aa) @ B @
© © D) (®)

(E). Question not attempted

The given pair of words share a common
relationship except one. Choose the odd one out.

(A) Wine: Grapes (B) Belt : Leather

(C) Gold: Silver (D) Paper : Wood
(E) Question not attempted
In a code language, ‘ROCKET’ is written as

‘CROTKE'. How will ‘'SEARCH’ be written in
that language ?

(A) ASECHR
(C) ASEHRC

(B) ASECRH
(D) ASEHCR
(E) Question not attempted

Which of the following mirror/lens is used in
solar furnaces, torches, search lights and
headlights of vehicles ?

(A) Concave Mirror  (B) Plane Mirror

(C) Convex Lens (D) Convex Mirror

(E) Question not attempted

P.T.O.
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12.

13.

14.

15.

16.

In 2023-24, Rajasthan was the leading producer of
one of the following types of oilseeds. Identify
from the following :

Choose the most appropriate answer from the
options given below.

(A) Mustard _-(‘B) Castor seed

(C) Soya Bean (D) Linseed
(E) Question not attempted

The second trophic level m a lake is -
(A) Fishes

(B) Benthos

(C) Zooplankton

(D) Phytoplankton .

(Ej Question not attempted

Who among the followmg is recognised as the
“Father of the Indlan Constltutlon” ?

(A) Dr. B.R. Ambedkar

(B) . Jawahar Lal Nehru

(©) Dr.K.M. Munstu ~
(D) Mahatma Gandhi.

(E) Question not attempted

The western boundary of Rajasthan with
Pakistan is known as :

(A) Durand Line "(B) Kalapani
(C) Radcliffe ./ (D) McMahon Line
(E)  Question not atteinpted

Find the missing number x in the given series :
59, 68,77,83,89,92, x

(A) 99
(C) 98

(B) 95
(D) 97

(E) Question not attempted
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(D) 16-5-9-12-0-3

I g ug o=l ¥ WA W Aga G|

TreTdr 2l
I ﬂ@lug@'m‘rﬁauaﬁw%ﬁia%mﬁm
T ST & AT |

(A) Wﬁ%llw%l
(B) mahmlmaa;r%l
(@) Iaﬁ?uaﬁrw%l
(D) ¥aer @ 17T B
B seaRawE

17.

18.

19.

20,

Choose the correct water image of the given
figure (X).

(B)
U @
‘[ﬂ (0) g ’m (@) []]I
© (D)
@) (/
()
(E) Question not attempted

If PAPER is coded as 16-0-16-0-18, how will you
code PENCIL ?

L'.
(B) 16-0-14-0-0-3
(D) 16-5-9-12-0-3

(A) 16-0-14-3-0-12
(C) 16-5-14-3-9-12

- (E) Question not attempted

The Phad artist Shrilal Joshi belongs to :

(A) Bikaner (B) Jodhpur

(©) Bhilwara (D) Churu

(E) Question not attempted

The question given below consists of a statement

followed by two arguments I and II. Decide
which of the argument(s) is/are strong ?

STATEMENT :

Should aerated drinks be banned in primary
school canteens ?

ARGUMENTS :

L. Yes. It adversely affects the health of kids.
II. No. It's for the students to decide whether

to buy the aerated drinks or not.
(A) Only argument II is strong
(B) Either I or Il is strong
(C) BothIand II are strong
(D) Only argument I is strong

(E) Question not attempted

P.T.O.
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21.

22,

In the given question, two conclusions (I and 1I)
are followed by a statement. Assume the
information given in the statement to be true,
select a logically drawn conclusion beyond a
reasonableidjdbt.

STATEMENT:

Hard worl{;ig;;ikey to success.
CONCLUSIONS :
L All successful people are hardworking.

II. Smart work leads to failure.

(A) Only conclusion IT follows.

)

(B) Neithér LTior II follows.

(E) Question not attempted

Which historian and archaeologist of Rajasthan
wrote the famous text ‘Lipimala’ ?

(E) Question not attempted
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25.

Assuming  everything in the statement given
below to be true, decide which of the following
courses of action logically follow(s) ?
STATEMENT :

A strong correlation has been found between the
road accidents and over-speeding by the vehicles
causing large number of casualties.

COURSES OF ACTION :

. The government should direct the
automobile companies to install a device in

the vehicles to automatically limit the speed
at 50 km/h.

II. Installation of speed cameras on the roads
and imposition of heavy challans on
offenders.

(A) Only II follows.

(B) Neither I nor II follows.
(C) BothIandII follow.

(D) Only I follows.

(E) Question not attempted

Choose the correct mirror image of the given
figure (X).

7 Mirror

I

4
o

The Constitution of India came into force on :

(E) Question not attempted

(A) 15 August 1947
(C) 2 October 1948

(B) 26 January 1950
(D) 26 November 1949

(E) Question not attempted

P.T.O.
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26.

27. -

28.

29.

What should come in place of question mark (?)

in the following series.?

M14P, PM14, 4PM1,7)
(A) 14PM (B) 1MP4
(C) 14MP (D) 1PM4

(E) Question not attempted
Who among the followmg has the power to

remove the governor ‘of a state from office ?

(A) Legislative Assembly
(B) Chief Minister

© vSpeaker

(D) President

(E) Question not attempted

Who can make ad ’ances out of the Contingency

Fund of the state to meet any unforeseen
expenditure ? s

(A) Chief Mlmster

(B) Home Minister

(D) Finance Minister

(C) Governor = 7
(E) Question notfttgmpted

There is a definite relationship between figures
(@ and (b). Establish a similar relationship
between figures (c) and (d) by selecting a suitable
figure from the following options that replaces
the question mark (?) in figure (d).

(A)

©

\

(E) Question not attempted
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32.

In the question, given below is a statement
followed by two conclusions (I and II). Assume
the statement to be true, decide which of the
conclusions  logically follows from the
information given in the statement beyond a
reasonable doubt ?

STATEMENT :
CONCLUSIONS :

I Man is mortal.

Death is inevitable.

Il Those who are born must die one day.

(A) Only conclusion II follows.
(B) Neither I.nor II follows.
(C) BothIand II follow.

(D) Only conclusion I follows.
(E)  Question not attempted

The two states to the North of Rajasthan are :

Choose the most appropriate answer from the
options given below.

(A) Haryana and Uttar Pradesh
(B) Punjab and Haryana

(C) Haryana and Gujarat

(D) Uttar Pradesh and Punjab
(E) Question not attempted |

Amongst the following figures, which one is

different from the rest ?

(2) (b) © (d)
(A) (®) (B) (d)
© @ (D) (9)

(E) Question not attempted

P.T.O.
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37.

10

33.

34.

35.

36.

If ‘Rose’ is known as ‘Sunflower’, 'Sunf}OWer.’ is
known as "1otus’, ‘Lotus’ is k1;1o:wr’1 as ‘Jasmine’
and ‘Jasmine’ is known as L.1ly , then what
would be the name of Indian National Flower ?

(A) Lily (B) Jasmine

(C) Sunflower ’ '~ (D) Lotus

(E) Question nog;agfé}npted

On which Conqgjffglional Amendment Act of
1976, the term -‘secular’ was added to the
Preamble of the Indian Constitution ?

(A) 42nd (B) 44t

(C) 43 (D) 41+
(E) Question not attempted

APIO (Assistant Public Information Officer) has
to forward application for information to : “

(A) PIO (Public Information Officer)
(B) First Appellza:tz‘éuthority

’;é Authority

(C) Second Appgl
(D) The head of ﬁuthority

(E) Question no; :z;mpted

The Indian Constitution was adopted on :

(A) 26 November 1950

(B) 26 November 1949

(C) 2October 1948

(D) 15 August 19717‘

(E) Question no;?;;mpted

In the given quéétidn, three of the four given

oPtions are alike in.some manner and one is
different. Choose the odd one out.

(A4) 91
(©) 39L

(B) 371
(D) 65K
(E) Question not attempted
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3. TP MREA Hig §, BLACK Ht 29 ftem smar %1(38.  In a certain code, BLACK is written as 29. How is
3 BT ¥ WHITE &t 2 Rwar smoar 2 WHITE written in that code ?
(A) 65 (B) 23 (A) 65 (B) 23
@ 56 (D) 92 (C) 56 (D) 92
(E) SrIAia W — (E) Question not attempted
39. TrefeRae sfwar F wew F"TE ('7)5‘5 T 9 FI(39.  What number should replace the question mark
Y =T I 2 : (?) in the following series ?
= R Rreset ¥ w‘ Ef?fﬁﬂ'm Choose from the options given below.
o] 3,4,6,8,12,13, 24,7, 48, 26
3 4,6,8, 12 13,24, 7,48, 26‘¥
(A) 20 (B) 36 (A) 20 (B) 36
< 19 (D) 35 © 19 (D) 35
AR UL (E) Question not attempted
40. TSI F A& 9T F AEF FT AW a?rrsq 40. Name the ruler of the Chauhan dynasty of
Y ‘e’ € IuRr CUEIER Shakambhari, who was given the title of
£ 32 ‘Kavibandhava’.
(A) Ajayraj (B) Vigrahraj IV
(C) Prithviraj III (D) Arnoraj
) (E) Question not attempted
4.  OR IAT AERET F ¥ BIT AT B arfbd &9 (41, Which one from the four answer figures will
. Y % Y9 IR F I come to the right of the problem figure to
jﬂ?am'r?r Efr s e e complete the series logically ?
[ OAQAD 1 OAOAC
A O _ _ A O X
@) - X Tj e OA xO X i
(A) Bl{AO X A JAO x B JAO X
40 [, .2 o
% 1 *
© X OA © [AO X ® XOA
o 0! ]
= * x *
(E) (E) Question not attempted
% DG-06 11 P.T.O.
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43.

45.

Which of the following types of soil occupies the
largest area in Rajasthan 7

Choose the most _appropriate answer from the
options given below:

(A) BlackSoil - (B)
(D) Alluvial Soil

Red Soil

(C) Desert Soil ,‘

(E) Question no’c;:é:ttgmpted

Whose statue was unveiled in Jaipur Wax
Museum’ on the occasion of ‘World Heritage
Day’ on 18t April 20247

(A) Lata Mangeshkar (B) Narendra Modi

(C) Virat Kohli (D) Sachin Tendulkar

(E) Question not;:gg?mpted

The question givépb?ﬂow consists of a statement
followed by two arguments I and IL Decide
which of the argugngfg(s) is/are strong ?
STATEMENT :
Should there be _é_-y two political parties in a
country like India.?
ARGUMENTS :
I.  Yes. It will make the election process easier."
II. No. In a country like India where there are
several regional aspirations, regional parties
are also required.

(A) Only argument II is strong.
(B) NeitherI norgg-;g strong.

©
(D)

(E) Question not éttémpted

BothIand II fa;é—;trong.

Only argume,;r&’l_is strong.

Bani-Thani is associa{ted with which school of
painting of Rajasthan ?

(A) Marwar (B) Kishangarh

(©) Bikaner (D) Kota

(E) Question not attempted
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Ashmit introduced Riti as the wife of his
mother’s husband’s son Sumit to his wife Reema.
How is Ashmit related to Riti ?

(A) Uncle (B) Brother

(©) Brother-in-law (D) Cousin
(E) Question not attempted

Which city is the host of the 18th ‘Pravasi Bhartiya
Divas Convention-2025’ ?

(A) Bhopal (B) Hyderabad
(C) Chennai (D) Bhubaneshwar

(E) Question not attempted

Which one from the four option figures will come

to the right of the problem figure to complete the
series logically ?

pJ | ? +|1
+ . A A A +A
A e 20 0 2
(Problem figure)

@2 A B) [ vl

© [ A Ol A

(E) Question not attempted

Which of the following pairs is the odd one out ?
(A) Chair: Furniture

(B) Rose : Flower

(C) Banana: Apple

(D) Frock: Dress

(E) Question not attempted

P.T.O.
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50.

51.

52.

53.

55.

Which state has made the announcement to
Jaunch ‘Mukhyamantri Vishwakarma Pension

Scheme’ in November 2024 for laborers and street
vendors ?
(A) Gujarat (B) Maharashtra

(C) Rajasthan’; (D) Delhi

(E) Questionnot attempted

In a code Iénguage, ‘ENGLISH’ is written as
"VMTORHS'How will "HINDI' be written in the
same language ?-.

(A) SRMWR " . (B) SRMVR

© SROWR™: (D) SRNVR

(E) Question not attempted
Lachhiram/Lacchiram is related to which folk
drama ?

(A) Kuchamani Khyal (B) Jaipuri Khyal

(C) HelaKhyal (D) Shekhawati Khyal

(E) Question not attempted

In Rajasthafi tbe Border Area Development
Programme (BADP) is NOT being implemented
Choose the most appropriate answer from the
options given below.

(B) Jaisalmer

(D) Alwar

(E) Question not attempted

(A) Sriganganagar

(© Barmer ===

According to 20t livestock census of India, which
of the following states is on the top of Livestock
Population ?

(A) Rajasthan (B) Madhya Pradesh

(C) West Beggﬁ (D) Uttar Pradesh
(E) Questio;j“‘ﬁ_cfc attempted

The famous:_if;_fblk dance of the regions of
Bharatpur and Alwar is the :

(A) Ghoomér o (B) Garba

(C) BhawaiDance (D) Bam Dance

(E) Question;ndt attempted
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56.

57.

58.

Which of the following figures when placed in
the blank space of fig. (X) would complete the
pattern ?

(E) Question not attempted

When non-metals react with oxygen,
is/are NOT formed.

(A) Metal oxides (B) Non-metal oxides

(C) Carbon dioxide (D) Water

(E) Question not attempted

Which of the following figure is embedded in the
pattern given in fig. (X) ?

©

X

\W
A

(E) Question not attempted

(A) (B)

© (D)

P.T.O.
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59.

60.

6l.

62.
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What is the value of question mark ?

(E) Question not-attempted

In which agroclimatic region of Rajasthan; Jaipur,
Dausa and Ajmer are included ?

Choose the most appropriate answer from the
options given below.

(A) Humid Southern Plain

(B) Sub-humid Southern Plain

(C) Semi-arid Eastern Plain

Time limit for :%iling second appeal under
Sub-section (3)°0f Section 19 of the RTI Act is :

(A) 90 days from the receipt of FAA's decision
(B) 40 days from the receipt of FAA's decision
(C) 30 days from the receipt of FAA’s decision

(D) 10 days from the receipt of FAA’s decision

(E) Question "g__thattempted

(B) 6t June

(C) 14 August =

(D) 15t August

(E) Question not attempted



63.

65.

66.

wifers aRTd & ar & Fr=feRag § @ 3 |63,

HUT Wal & 2
(A) S M A Ieter 7Et ReAr S wHar B

(B) Wi T S awpRY, TAT / IR, T
AT ITTRAT T a5e1a |

© us a1 T ¥ Afie 7 ggnt T ¥

(D) weTd & TS WEAT SRR ey
2l

(B) STaRa ueq

ST TF WS ¢ ST I weat ¥ |6

fFemic o9 ¥ foe Rear smET ¥ e §
EREA T BT TF Hig W B

e foT Y fuhedt # F W Swr I |
(A) TSTEHT — AT

(B) sieraTST — YaTT

Q) I — I

(D) FFR — ST

(B) 3rgaia we

W%ﬁﬁﬁ%lﬁwwaﬁsﬁﬁw%
ot A A Bl THA A BT IR 8

TR I A TH THIR Helferdt &

@) s, @ fw

(C) == (D) T

(B) STaRa 7%

VR % SR §WTH AT 99ET|66.
qmifieT o

A 7 (B) 10

(© 15 (D) 5

(B) 3raRd ue T

M DG-06 17

65.

Which of the following statements is correct
about a physical change ?

(A) They cannot be reversed easily.

(B) The physical properties like shape, size,
colour or state are not changed.

©

- inore new substances are formed.

The chemical composition of substance
remains unchanged.

(D)

(E) Question not attempted

Tungsten is a mineral used for making the

_ filament of bulbs. A famous location of tungsten

ore in Rajasthan is :

Choose the most appropriate answer from the
options given below.

(A) Rajsamand - Bamania

(B) Bhilwara - Rewana

© A]n_‘Eer:- Kayar

(E) Qu;!_gtxon not attempted

Pooja is=the*daughter of Meera. Meera is Raju’s
only sister whose mother is Malti. Malti’s
son-in-law is Rakesh. Rakesh is related to Pooja
as:

(A) Brother-in-law (B) Father

(C) Uncle (D) Brother
(E) Question not attempted

The Co_rgs ’Euent Assembly of India included
women members.

P.T.O.
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68.

69.

70.

Which of the following is a list of only bio-
degradable wastes ?

Choose the most appropriate answer from the
options given below.

(A) Fruit and vegetable peels, leather and cotton

clothes, cattle dung and agricultural waste

(B) Aluminium foil, PVC, egg shells, dried
leaves and paper

Glass -pieces, leather, plastic bottles and
agricultural wastes

©

Plastic bottles, cooked food, household
organic waste, paper and cardboard

(D)

(E) Question not attempted

The alternative form of a gene which controls any
one character is called :

(A) Dominance (B) Recessive

(C) Genetics (D) Allele

(E) Question not attempted

What is the missing term in the following series ?

630, 666, 691, 707, ?, 720

(A) 712 (B) 708

(@ 710 (D) 716

(E) Question not attempted

Who has become the first batsman in the world to
hit 600 sixes in the history of International
Cricket ?

(A) Rohit Sharma (B) David Warner

(©) Quintonde Cock (D) Jos Buttler

(E) Question not attempted
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71.

72.

73.

The function of the large intestine in the human
body is mainly to :

Choose the most appropriate answer from the
options given below.

(A) Digest the carbohydrates

(B) Absorb all nutrients from the digested food

©) Absorb water and salts and excrete the
undigested food

(D) Digest the proteins
(E) Question not attempted

The idea of the Concurrent List has been taken
from the Constitution of

(A) Australia” (B) Canada

(C) SouthSAféica (D) Germany

(E) Quesﬁé{ﬁot attempted

Find the rmssmg term in the given series :
ZYO, XWP, VUQ, ?
(A) STR
(©) TRS

(B) RTS
(D) TSR

(E) Question not attempted

Identify the river on which the famous Chuliya
Waterfall is located.

(A) SarasWa_ti

(B) Chambal

(C) Betwa. - (D) Luni
(E) Question not attempted

According 7t:9;-c_ensus 2011, which district has the
highest population in Rajasthan ?

(A) Jalore (B) Jaisalmer
(C) Jodhpur (D) Jaipur

(E) Question not attempted

P.T.O.
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76.

There is a definite relationship between figures
(@) and (b). Establish a similar relationship
between (c) and (d) by selecting a suitable figure
from the given options that replaces the questlon

mark (?) in fig. (d).
AT

(@) (b) (© (d)

(A) (B)

O [ ~ (D)

(E) Question not attempted

Which of the following is not an objective of the
Rajasthan Institute of Transformation and
Innovation (RITT) ?

Choose the most appropriate answer from the

options given below.

(A) To estimate various types of resources
available in the state (physical, financial,
manpower).

(B) To prepare policy guidelines for making the
best use of state resources.

(C) To develop mechanisms to improve the
standard of living of common people.

(D) To provide training to students in the field
of IT.

(E) Question not attempted
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78.

79.

Which of the following instrument is used to
measure Earthquake waves ?

Choose the most appropriate answer from the
options given below.

.(A) Rain gauge
(B) Seismograph

(C) Max arid Min Thermometer

(D) Barometer
(E) Question not attempted

In the following question, there is a statement
followed by courses of action numbered I and II.
Assuming the statement as true, decide which
course(s) of action would logically follow ?

STATEMENT :

There hési:il;een a rapid rise in cybercrime
through fake calls all over the country causing
monetary losses to citizens.

COURSES OF ACTION :

L Peopig’should be discouraged from buying
smart phones.

II.  The service providers should be asked to
flag the calls from dubious callers.

(A) OnlyIl follows‘.

(B) Eithg? I or II follow.

© Neiﬂ;e% I nor II follows.
(D) Only I follows.

(E) Question not attempted

P.T.O.
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80.

81.

82,

The question given below consists of a statement
followed by two assumptions numbered I and II.
Considering the statement as true, decide which
of the following assumption(s) is/are implicit ?
STATEMENT :

Only good dancers were invited to a dance
festival. No one without a flexible body is a good

dancer.

ASSUMPTIONS :
1L  All invited dancers in the dance festival had

a flexible body.
[I. Dancers without flexible body were not
invited to the dance festival.

(A) Only assumption Il is implicit.
(B) Either I or Il is implicit.

(C) BothIand II are implicit.

(D) Only assumption I is implicit.
(E) Question not attempted

Which of the following National Highways in
Rajasthan has been converted into 6 lane from
Jaipur to Ajmer under Golden Quadrilateral
Project ?

Choose the most appropriate answer from the
following options. ‘

(A) National Highway number 14
(B) National Highway number 8
(C) National Highway number 3
(D) National Highway number 11

(E) Question not attempted

The High Court of Rajasthan has its bench at

(A) Chittorgarh (B) Jaisalmer

(©) Jaipur (D) Hanumangarh

(E) Question not attempted
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In the question below, there is a statement

followed by two courses of action (I and II).

Consider.the statement to be a fact, decide which

of the suggested courses of action logically follow

it ? B A

STATEMENT :

In a state,-it has been observed that there is an

increasing_rate of female mortality during child

birth because of early marriages.

COURSES OF ACTION :

1.  Doctors or midwives should refrain from
conducting child deliveries of the underage
females.

II. The government should provide monetary
help to the underage expecting mothers.

(A) Only II follows.

(B) Neither I nor II follows.
(C) BothTand II follow.

(D) Only.Ifdllows.

(E) Queg;lon not attempted

The Dis"zr_ _t_‘? Disaster Management Authority
(DDMA). is headed by :

(A) Block %’?velopment Officer
(B) Chiéf Sécretary of State
(©) MLA

(D) District Magistrate

(E) Question not attempted

The question given below consists of a statement
followed by two assumptions I and IL
Considering the statement as true, decide which
of the assumption(s) is/are implicit ?
STATEMENT :

In spite L‘Qf_.i@.h increase in the number of textile
factories’in' a country X, it continues to import
fabric. = %

ASSUMPTIONS :

. The demand of fabric per capita in X is over
increasing.

II. The ftfictile factories of X are inefficient.
(A) Only assumption II is implicit.

(B) Either I or Il is implicit.

(C) BothIand II are implicit.

(D) Only assumption I is implicit.

(E) Question not attempted

P.T.O.
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88,

The question given below consists of a statement
followed by two arguments I and IL Decide
which of the argument(s) is/are strong ?

STATEMENT :
Should parents spend more money oOn the
education of their sons than on the education of

their daughters ?

ARGUMENTS :
I Yes. The data shows that boys succeed more

than girls.
II.  Yes. Parents should spend more money on
their daughter’s marriage than on her

education.

(A) Only argument Il is strong, N
(B) Either Ior Il is strong.

(C) Neither I nor Il is strong.

(D) Only argument I is strong.

(E) Question not attempted

Which of the following statements is true about
the production of oilseeds and sugarcane in
Rajasthan for the year 2023-24, as compared to
the production of 2022-23 ?

Choose the most appropriate answer from the
options given below.

(A) Total oilseeds and sugarcane production

increased in 2023-24.

(B) .Total oilseeds and sugarcane production
decreased in 2023-24.

(C) Total oilseeds production increased, while
sugarcane production decreased in 2023-24.

(D) Total oilseeds production decreased while
sugarcane production increased in 2023-24.

(E) Question not attempted

According to modified budget 2024-25, what is
the estimated expenditure on Jal Jeevan Mission
drinking water for 25 lacs rural households ?

(A) 15 thousand crores (B) 20 thousand crores
(C) 25 thousand crores (D) 10 thousand crores

(E) Question not attempted
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Select the number that can replace the question
mark (?) in the following series :

2,5,10,17,26, 2,50

() 38
(C) 40

(B) 39

| (D) 37
(BE) Questioh'not attempted

Pointing to a man, Sooraj said, “He is the only
brother of the daughter of my grandmother.”
How is Sooraj related to the man ?

(A) Son (B) Father

(C) Brother (D) Cousin

(E) Question not attempted

In the question given below, a statement is
followed by - two assumptions I and II.
Consideringt the statement as true, decide which
of the assump’aon(s) is/are implicit ?

The pohce admnustrahon blocked ventricular
movements_around the rally ground where a

public meetmg is to be held by a leader due to
the large inflow of supporters.

ASSUMPTIONS :

L The leader is very popular among the
public.

Il The leader will win the upcoming election.

(A) Only assumption II is implicit.
(B) Neither Inor I is implicit.

(C) Both I>a_ngII are implicit.

(D) Only assumption I is implicit
(E) Quest:i;'h:riot attempted

What should come next in the letter series given
below? oy

ZP, YO, XN; WM\,\___
(A) VP (B) ZP
(© VL (D) ZL

(E) Question not attempted

P.T.O.



93.

94

95.

96.

97.

3% DG-06

Waﬁmﬁwmﬁa%wmwﬁmﬁaﬁ?
(A) g (B) g

Q) TSR (D) ==

(E) 3ranRd "7

5y WA 2025 T TR & WEUATT B
g7 '

(A) = TA.Tw. Rrad!

(B) s TA.GA, TG

(C) oft st smrare s

(D) =it Tig AHTE

E) raRa we |
Ghrem ¥ e & g Tt w98 ¥ e
ECTAT ST 9T & 2

F2 g g faeedt # ¥ qEW SUGE SR A |

(A) ETEAT T

(B) Tue 3w T s ¥ wew @
et 99 THat=e J9ga g™

(C) WEHIRT FRT

(D) I T ST =

(B) oTuRd 9eF
Pretfrfiae et o % TN w7 & dafa 3
(A) T RewT (qudt)

(B) W T

(©) Tareet : facelt o1 T=ar

(D) 3T : ITTH

(B) ITIaRd weA

TSI e # SRTH (RAC) FT ¥ 9
(A) TG Qe aa-négm“r

(B) TSHTE WrET zm%qa-&

(©) sefer worer vt

(D) TSTEAT HIET wr{%g_(——rﬁ '

(E) SraRd usA S

96.

97.

26

93.

9.

95.

Who founded the Jat principality of Bharatpur ?
(A) Surajmal (B) Churaman

(D) Badan Singh

(E) Question not attermpted

(C) Rajaram

Who is the Advocate General of Rajasthan as on
22 Feb. 20257

(A) Sh. M.S. Singhvi

(B) Sh.N.M. Lodha

(C) Sh.B.P. Agarwal

(D) Sh. Rajendra Prasad

(E) Question not attempted

For violation of the Constitution, the President
may be removed from the office by :

Choose the most appropriate answer from the
options given below.

(A) The Prime Minister

(B) The Electoral College consisting of members
of Parliament and the State Legislature

(C) Impeachment
(D) A no-confidence vote
(E) Question not attempted

The following pairs of words are related in a
particular manner. Which pair does not follow
that pattern ? '

(A) Dog: Puppy

(B) Cow:Bull

(C) Cat:Kitten

(D) Lion:Cub

(E) Question not attempted

What is RAC in Rajasthan Police ?
(A) Ramgarh Armed Constabulary
(B) Rajgarh Armed Constabulary
(©) Reserved Armed Constabulary
(D) Rajasthan Armed Constabulary

(E) Question not attempted
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" (A) Tetraethyl Lead

Find the missing term in the alpha-numeric
series :

E11X, H7V, ?, N3R, Q2P
(A) K9S (B) I5T
(© U (D) K5T

(E) Question not attempted

In the question, given below is a statement
followed by two conclusions (I and II). Assume
the statement to be true, decide which of them
logically follows beyond a reasonable doubt from
the information given in the statement ?

STATEMENT :

The covid pandemic created mayhem and

exposed the sad. reality of existing medical

infrastructure worldwide.

CONCLUSIONS :

I Medical infrastructure was improved after
the pandemic worldwide.

II. Dealing ~with the pandemic required
sophisticated ; as well as sturdy medical
facilities, ___

(A)

(B)
©

Only II follows.
Neither I nor II follows.
Both I and II follow.

(D)
(E)

Which of the 'fallowing is ejected mostly by
thermal power plants as by-product of coal -
burning processes which results in air pollution ?

Choose the most appropriate answer from the
options given below.

Only I follows.

Question riot attempted

(B) Dust
(C) Fly Ash (D) Oxides of iron

(B) Question not attempted

P.T.O.




